1/,"-2" | DN15-DN60 | CLASS 150/300

Floating Ball Flanged

Valve dimensions

H
o |
c l
_—l___ - _i_ —_——— o Ball port
B Preparation
A for actuation
1

e 1o
without nut with nut

Stem flats
show valve

ball position

TxL thread <N thread

FPCD
. Weight kg/lb
::::5 150 | 300 > . b 150 | 300

OISR mm  11.15108.00 140.00 | 46.00 | 29.00 | 38.00 92.00 151.00 8890 95.25 554 5 UNE 6.65 | (F03)| 36.00 M5x10 1.70 2401 69
" inch 044 425 550 181 1.14| 150 362 594 350 375022 0.26 142 3.80 530 80
DI\PLE mm  14.30 117.00 152.00 | 49.00 | 31.40 | 40.30 | 94.00 151.00 98.55163.07 5.54 5 UNE 6.65 | (F03)| 36.00 M5x10 2.30 330 10
" inch 056 461 600 193 124 159 370 594 383 642022 0.26 142 5.10 730 12
D\PEE mm  20.60 127.00 165.00 | 57.00 | 38.20 | 55.60 103.50 170.00 107.95 123.95 7.54 e - UNF 740 | (FO4)| 42.00 M5x10 3100 460 28
1" inch 081 500 650 225/ 150 219 407 669 425 488 030 0.29 1.65 730 1020 32
DIEHE mm  31.80 165.00 190.00 | 62.00 | 43.60 | 73.10119.20 [220.50 127.00 155.52 |8.71 16 - UNF 8.50 | (F05)| 50.00 Mex12 550 8.70 69
W28 inch | 1.25| 650 7500 244 172 283 470 868 500 6.100.34 033 1.97 12201 19.30 80
DIELE mm  38.20 178.00 216.00 | 68.00 | 48.30 | 77.80123.90 220.50 152.40 165.10 |8.71 %s - UNF 8.50 | (F05)| 50.00 Mex12 810 1080 102
2" inch 150 700 850 267, 190 306 488 868 600 650034 033 1.97 18.00| 2400 118

312 | KDHABOMM | GENERAL USE & INDUSTRIAL




1/,"-2" | DN15-DN60 | CLASS 150/300

Floating Ball Flanged

Components & materials

Item

Description

Material specification

Body Acc. Ordering Code 1
Plug Acc. Ordering Code 1
Ball Acc. Ordering Code 1
Stem Acc. Ordering Code 1
Seat Acc. Ordering Code 2
Inner seal PTFE 1
Outer seal Acc. Ordering Code 1
Stem thrust seal | VIRGIN PEEK, PCTFE (KEL-F) 1
Anti-abrasion ring | VIRGIN PEEK, PCTFE (KEL-F) 1
Stop pin S. Steel 1
Stem seal CF PTFE, TFM 1
Follower S. Steel 1

Item | Description

ST

Material specification

1L0.%8 Slide bearing S. Steel 1
Disc spring S. Steel 2
Stem nut S. Steel 1
Locking clip S. Steel 1
Handle S. Steel 1
Serrated washer | S. Steel 1
Handle nut S. Steel 1
Sleeve PVC 1
Anti-static spring  |S. Steel 1
Anti-static plunger |S. Steel 1
Tag (not shown) |5, Steel 1

¥ Repair kit components

GENERAL USE & INDUSTRIAL | €(BDPHABONIM | 313




ePA 3'-8" | DN80-DN200 | CLASS 150/300

Floating Ball Flanged

Valve dimensions

H
D
C
— ¢ Ball port ————
Preparation
for actuation
B '
PN
A
@)
Stem grooves
ow f—-o-—-—- - ———1 ] show valve
= ball position s,
| (@)
| N thread -
L TxL thread L
FPCD Square
A Weight kg/lb
Ball B C s L ght kg
port | 150 | 300 150 | 300
DIEDE mm | 63.50 203.00 284.00) 92.00/ 9840 145.001 185.101400.00 190.501 209.55| 18.90/ 1590 q1v14 16.70| (F10) 102.00 M10x20 1800/ 2270/ 300
X
3” inch 250 800 1118/ 362 388 572 728 1575 750 825 074 063 UNS2A | g66 4.02 40.000 5040 348
IR mm 82,601 229.00/ 305.00| 102.00/ 114.10/ 161.00/ 201.00/ 610.00| 22860 25400/ 1890 1590 q1"14 16.70| (F10) 102.00 M10x20 28200 3630 615
X
4" inch 325 900 1200 400 449 634 791 2401 900 1000 074 063 UNS>2A | g66 4.02 62.800 8060 713
DI mm 111,10 267.00 403.20| 108.00 157.40| 226.001 285.90| 916.00| 27940/ 317.50| 2845 23.75 114"-12 126.20| (F12) 125.00 M12:30 41.001 69.00/ 872
X
6" inch| 438 1050 1588 425 620 891 1125 3608/ 11000 1250 112/ 094 UNF-2A | 103 492 91.001 153.00 1012
DPLL mm | 144401 292.001 419.00| 163.50] 185.20| 254.001 313.60 916.00| 342.90| 381.00| 2845 2375 1147212 126.20) (F12) 125.00 M12:30 82,001 105.00) 1552
X
8" inch| 568 1150 1650 537/ 730 1000 1234/ 3608 1350 1500 112/ 094 UNF-2A " 103 492 182.001 233.00/ 1800

314 | KDHABOMM | GENERAL USE & INDUSTRIAL




eW 3'-8" | DN8O-DN200 | CLASS 150/300 L IIII

Floating Ball Flanged

Components & materials

Preparation
for actuation

Item | Description ; Material specification

Stem seal CF PTFE, TFM
Follower S. Steel
10,88 Slide bearing S. Steel

Tag (not shown)  |S. Steel
¥ Repair kit components

Body Acc. Ordering Code 1 S. Steel 2
Plug Acc. Ordering Code 1 S. Steel 1
Ball Acc. Ordering Code 1 Tab lock washer — |A240304 1
Stem Acc. Ordering Code 1 S. Steel 1
Seat Acc. Ordering Code 2 S. Steel 1
Inner seal PTFE 1 Wrench head S. Steel 1
Outer seal Acc. Ordering Code 1 Wrench bolt S. Steel 1
Stem thrust seal | VIRGIN PEEK, PCTFE (KEL-F) 1 Sleeve PVC 1
Anti-abrasion ring | VIRGIN PEEK, PCTFE (KEL-F) 1 Anti-static spring | S. Steel 2
Stop pin S. Steel 1 Anti-static plunger |S. Steel 2

1 1

1

1

GENERAL USE & INDUSTRIAL | €(BDHABONIM | 315




